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1. 'XbB(10, θ)5µ, θ ∈ Ω = {1/4, 1/2}�ÃyX, kl�H0 : θ = 1/2, vs. Ha : θ =

1/4�`�½ã
{X ≤ 3}��Ohl��læÐó�
2. 7V×2ÑÝY�100ng, Í�n
×ÑJó, ÿÕ7Vó�52%ÍÑ«��p�Y��

¨Ñ«�^£�kl�H0 : p = 0.5, vs. Ha : p 6= 0.5, ãα = 0.01�¿àðV�«, ¬2

=�Ý?Ñ, Ot�Ýn, ¸�`�H0�

3. 'X1, · · · , Xn
×àãU(0, θ)5µX®ß��^øÍ�kl�H0 : θ ≤ θ0, vs. Ha : θ >

θ0�ã`�½
{X(n) ≥ c}�
(i) �OlæÐóK(θ), ¬J�h
θ�×¦Ðó;

(ii) 'θ0 = 1/2, �Oc�Â, ¸�½iã
0.05;

(iii) �X�n�9�, ¸ÿE(ii)��l�, K(0.75) = 0.98;

(iv) 'n = 20, vX(n) = 0.48, �Oh`�p-Â�

4. 5½E9�v.ßC9��.ß®Ø4?�, vß�Wº
88, 68, 77, 82, 63, 80, 78, 71, 72,

�ß�Wº
73, 77, 67, 74, 74, 64, 71, 71, 72��'vß��ßÝWº5½�Ú
ã�²

óσ2
1, σ2

2�ðV5µX®ß��^øÍ, vËàøÍ�'
}ñ�kl�H0 : σ2
1 = σ2

2,

vs. Ha : σ2
1 > σ2

2��3α = 0.05�ì, ®×l��

5. 'X1, · · · , Xn
×àãU [0, θ]5µX®ß��^øÍ�kl�H0 : θ = θ0, vs. Ha : θ 6=
θ0���×αì�LRT�

6. '�^�óX�p.d.f.
f(x|θ), θ ∈ Ω = {θ0, θ1}, ê'f(x|θ)Aì�

θ \ x 0 1 2 3 4

θ0 0.15 0.2 0.2 0.15 0.3

θ1 0.3 0.2 0.18 0.16 0.16

ÃyX, kl�H0 : θ = θ0, vs. Ha : θ = θ1��5½��α = 0.15, 0.2, 0.3, 0.35, 0.4, 0.45
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